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What is Economics ? Discuss Prof. Robbin’s definition of economics. 14
OR

Explain the following concepts :

(1) Free good and Economic good

(2) Value and price

(3) Utility

Choose the correct option : 4
(1) The welfare definition of Economics given by .

(a) Marshall (b) Robbins (c) Adam Smith
(2)  Which is not the economic good from the following ?

(a) Electricity (b) Motor car (c) Air

(3) What s the reason for difference between monetary income and real income
from the following ?

(a) Demand (b)  Scarcity (c) Price level
(4) Diamonds have a very high

(a) Value in use (b) Value in exchange (c) Value in service
Define the term ‘Demand’. Explain the law of demand with diagram. 14
OR

Explain expansion — contraction of demand and increase-decrease of demand with
the help of diagram.

Choose the correct option : 4
(1) Demand is a function of .

(a) Price (b)  Other factors (c) None of the above
(2) The slope of demand curve is .

(a) Positive (b) Negative (c) Infinite
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(3) The law of demand is proved wrong by inferior goods. In economics, these

goods are called goods.
(@) Normal (b) Giffen (¢) Inferior
(4) Increase-decrease in demand is due to the change in .
(a) Price (b)  Supply (c) Other factors

3. (A) Explain the difference between supply and stock and describe the determinants of

supply. 14
OR
Explain expansion — contraction and increase-decrease in supply with the help of
diagrams.
(B) Choose the correct option : 3

(1)  When there is a decrease in supply, the supply curve shifts to

(a) right side (b) leftside (c) upside
(2) The market part of production means

(a) supply (b) stock (c) selling

(3) In price of a goods is expected to increase in the future, its supply at present
will

(a) decrease (b) increase (c) stable

4.  (A) Explain with the help of diagram how equilibrium price is determined by the
force of demand and supply. 14

OR

Give the meaning of market and explain the function of market.

(B) Choose the correct option : 3
(1)  With whom market is not related in Economics ?
(a) Place (b) Time (c) Price

(2) If supply remains constant and demand increases then price will be

(a) decrease (b) increase (c) remains constant
(3) Market price is the price of which period ?
(a)  Short term (b) Medium term (c) Longterm
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1. (A) Mention the causes of scarcity. 14
OR
Explain :
(1) Types of Utility
(2) Value and Price

(B) Choose the correct option : 4
(1) Wealth-oriented definition of Economics is given by
(a) Marshall (b) Adam Smith (c) Robbins
(2) For which of the following goods use-value is very high and it has no barter
value ?
(a) Book (b)  Scooter (c)  Sunlight
(3) The want satisfying quality in a good is called
(a) demand (b) utility (c) wealth
(4)  Who is the father of Economics ?
(a) Marshall (b) Keynes (c) Adam Smith
2. (A) Explain the law of Demand. 14
OR
Discuss the law of Diminishing Marginal utility.
(B) Choose the correct option : 4
(1) demand curve is parallel to the vertical axis.

(a) Perfectly elastic (b) Perfectly inelastic (c) Unitary elastic
(2) The slope of demand curve is
(a) positive (b) negative (c) constant
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3. (A)

(B)

4. (A

(B)
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(3) When price increases by 10% and hence demand decreases by 20%, then
the elasticity of demand can be called

(a) unitary elastic demand
(b) more elastic demand
(c) less elastic demand
(4) Expansion-contraction in demand is due to the change in

(a) price (b) supply (c) other factors

Explain the law of supply. 14
OR

Explain with the diagrams how price is determined by demand and supply in the
market.

Choose the correct option : 3
(1)  Supply functions can be expressed as .

(a) D=A(P) (b) S=A1(P) (c) P=A(S)
(2) If demand remains constant and supply decreases, the price

(a) increases (b) decreases (c) constant

(3) When there is a decrease in supply, the supply curve shift to

(a) right side (b) left side (c) None
Give the meaning of land and explain the characteristics of land. 14
OR

Describe the advantages and disadvantages of division of labour.

Choose the correct option : 3

(1)  Which is the most dynamic factor of production ?

(a) Land (b) Capital (c) Labour
(2) Land is the factor of production.
(a) Natural (b) Man-made (¢) Unlimited
(3) The expansion of division of labour depends upon the of market.
(a) type (b) size (c) production
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